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Direction (Q. Nos. 1 to 10) : Read the
following two passages and answer the

questions that follow each passage Your

see this. The villager wantis w‘ood to cook

- his food with, and he can earn money_by

answer to these questions should be :

based On the passages only.
Passage -1

Trees are useful to man in three very
important ways : ‘
wood and other products, they give him
shade, and they help to prevent drought and
Eoods _

Unfortunately, in many parts of the
world, man has not realized that the third
of these services is the most important. In
his eagerness to draw qoick profit from'the
trees, he has cut them down in large
- numbers, on[yto find that with them hehas
lostthe best friends he had.

they provide him with

making charcoal or selling wood to the
townsman. He is usually too lazy or too
careless to plant and look after new treee.
So, unless the government has a Qood
system of control, or can educate the
people, the forests will slowly disappear.

~ This does not only mean that the -

villagers’ sons and grandsons have fewer

trees. The results are even more serious :

for where there are trees their roots break

‘ the soil up — allowing the rain to sink in —.

and also bind the soil, thus preventing its

. being washed away easily, but where there

Two thousand years ago a nch and :

powerful country cutdown lts trees to build |

warships, wrth whlch to gain itself an
empire It garned the emplre but wathout

its trees its soﬂ became hard and poor.

are no trees, the rain falls on hard ground
and flows away on the surface, causing
floods and carrying away.with it the rich top-

soil, in which crops grow so well. When all

' the top-soil is gone, nothing remains but

When the emplre fell to pieces, the home

| country found itsélf faced by floods and

starvatlon

-----

the |mportance of—a p[entrful supply-oftrees,

-itis difficuit for it to persuade the villager to-
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(2)

worthless desert.

1. 'What is the most important role of
t_rees inman’s .bio-system?
A
(B)
(€
(D)

Trees provide us with fuel
Trees give us fruits . -
Trees provide snade
Tre_es prevent dro‘ug‘ht and .

floods

. Contd.




2.~ What happens if trees are cut down

in large numbers ?

" (A) We havemoreland for building

_ houses and roads
- (B)'. ‘Soilturns hard and oo‘or
(C) We .get a good supply of wood
D) We can build warships |

3.4 Trees are high[y useful because ;

-,washed away.
(B) They break the soil up
‘ (C) Theylet the rain water sink in
D) They chec‘kﬂoodS ) '
4, Floods are harmful to agnculture
because these

..{A) ..Destroy trees

2 -(B) - Wash awaythe rich top soil .

e (©) _Killvillagers and farmers

(D) Result in the break out-of

oo repidemics

5. Which one oftheseis not a synonym

of “gain” ?

.(A) Benefit

(B) ’Advantage o
B (AC")'t “Loss |

(D) Profit

HG ~2A/36

"(A) They prevent soil from being

Pass‘age— | |
To be a good teacher you need"
some of the glfts of the good actor ; you
must be able to hold the attention. andr
interest of youraud[ence you must bea
clear speaker, WIth a good, strong,_ .
pl‘ea_sing voice which is fully under your

control ; andyou mustibeable to act what

. you are teaching, in order to make its

meaning clear.
~ Wateh a good teacher, and you will

see that he does not SIt motton[ess before

~ his class he standsthe whole ttme heis

teaching ; he-watks about, using his arms,
hands and fingers to help him in his

explanatlons ‘and hIS face to express '

: feehngs L|sten to.him, and you will hear. _

the toudness the quallty and the musical

"note of his voice always changmg

accordang to what he is talklng about
The fact that a good teacher has | '
some of the gtfts of a good actordoes not

mean that he WIII indeed be ab!e to act well_

bn the stage ; for there are very 1mportant _

- differences _be_twe_ert the teacher’s work

and’the actor’s. The_-actdr has_tofspe,ak :

| wordswhich he h_as_'tearnt by heart;hehas -

( Turn over )




to repeat exactly the same words each

time he plays a certain part ; even his

movements and the ways in which he uses
' h|s voice are usually fixed before Whathe

has to do is to make all these oarefully“

learnt words and actlons seem natural on
the stage e
" “The good tea‘cher works in quite a
different way. His audience takes an active
part in his-play : they ask_ and answer
questions, they obey orders, and ifthey do
not understand spmething, t_hey sayso. The

teacher therefore has to suit hisacttothe

needs of his aud:ence which is his class '

~He cannot learn his part by heart but must

mvent rt as he goes along

I have known many teachers who

were fine actors in class but were unable

to take part in a stage-play because their

brains would not keep discipline : they -

could not keep strictly to what another had
written. '
6. Co_mrnon to-a good teacher and a
good actor is the quality of :
(A) . Being talkative
~(B) Original th'inkin'g
- (C) Capturing. the attentron of
. audlence -

.

(D) Making audience laugh

HG - 2A/36 :

7.

" (A) He walks about in hlS class

A good teacher:

' '(A) is articulate

. (B) is dlsmpllned

(C) aiways moves in his class B

(D) | always stands in his class

: What does a teacher no"t doin his

class ?

k
;

(B) He hardly expresses h|s

feelings

’(C)l ‘He speaks wordswhtch he has .

. learnt by heart

(D) He uses his hands and f ngers

- . while explaining

The audience in a class should be :
(A) Interactive |
(B) Passive

(C) Reverential

(D). Audacious

10.

~ Which one of these is not a synonym

of “strict" ?-

g (A) Se\lere . : fl.fr'd{\;' ":‘ffjl

(B) Harsh . ' . ’i S
(C) Slringent .

(D) Lax

~.Gontd.
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Interpersonal skills !i_nq[udej the

ability to . and manage
the: efnotions,._,mot_ivatians and

behaviours pf oneself and .o{h_ers

during social interactioris or'in a

sacial-interactive context.
(A
(B)
- ©
. (D)

feel
read
wite

view

12 Many have wondered how lt happens

that persons w:th high 1Qs don’t

always

- answer often liés in interpersonal

the top jobs : the

- skills.

(A)

- ®
(©)
o)

land =
leave
sack

seize

15.

13. Those who have intéfperéonal skills .

, ‘are able to managé their behaviour
during social interactions and align
their goa‘ls to the goa'is- of others
- during acii\'lities. o
(A) coheswe _ o

(B) collaboratwe

_(8).

14,

norms, values, or _

®
B
©
@

®
- ©
(D)

(C) coilo‘c,at._ion‘ :

(D) - conservative
Modern t:éa'mw'or‘k.o'f'ter{ brings -

together indfviduals from diverse

" groups who may not share common

but
who do offer uaique éxpért‘i'se,
InSIths and perspectlves
accommodations

cubicl_es

salaries

'-'vdcabu!arias |

E mall vo:ce mail, audto conferen-

: cmg and VldeO conferencmg, and the '

myrlad other technolog:es that

o enable mduveduais to communlcate-

WIth each other not,on[y increase the

ways in wh[ch sndlwduals can mteract

- but also reqwre a helghtened
‘ sensmwty to the —o . of

mterpersonal lnteractlons

(A) mnuendos B .'
nalvete :
nuances

reparfee

(Turnover)




- 18.

7.

A

This idea is particularly true in the

worlds of virtual learning and virtual

commumcatlon where one cannot

| yet use hand gestures faCEal

expressmns, orbody._.._______ to

~ fully express ideas.

language
(B) movement
)

(D)

poses
positions

You have just finished typing a

confidential letter from the director o .

the huiman resources office. The letter

- confirms that' Débbie, your close |

‘ (A)

®

friend and co-worker, has just been -

promoted to a new job. Debbie does
notyet know of the deoisioh . Which
one of the following ehotde you do ?
Congratulate Debble confl-

dentlalty

close friends

(C)
: official announoement '

(D) Inform your superwsor and start

_ planmng a luncheon

HG = 2A/36

Say nothing, and ‘wait for-'the )

Inform just' a few'of Debbie’s -

(6)

18.

P A : ‘
They manage conflict effectively by
devising win-win- solutions,

constructively influencing the

- .behaviour of' others, and using

19.

effecteve commumcat[on and

‘ strategles
(A) enforcement
(B) evasive
(C) performance

(D) persuasive -

Which is true about the. way

interpersoha[ relationships affect us

y physwaliy ?

©

@)

(D)

- (A) Deprived of mterpersonal _

refationships, humans can

become sick

Interpersonal re[ation:ships are
not actually necessary for
humans ; studies show. that
humans raised in isolation are
actua[ly healthier than those
’_ra:sed with others N |
Humans are the onIy mammals
| that need relat_lons_hi_ps_ in order
'toth.rive | R -
{nterpersona! r'elationshios are |
necessary until about age 6 but

notlater in adulthood

B Contd.




20.

21,

HG - 2A/36 : _ (

The challenge is to

A

s
@)
(©)
(D)

22.

" interchange of __

A
NG
o)
o

: (A) - Social

" personal skills not only in face-to-face

interactions but in virtual interactions
aswell. |

_perfect

(B) pér‘form
(€)

(D)

Message is any signél tﬁat'"triggers

prodube

project

theresponseofa___ - ..
receiver .

driver

sender

,c{eaner

‘Oral communication is the

_between
the sender and receiver. |

verbal messages

cues and clues

signs and gestures

written messages  °

relationship between the sender and

receiver. -

(B) Physical

" (C)  Cultural’

(D) f‘Chronological -

— o _finter- -

26.

__ context refers to the

A7)

24,

25,

0

®) -
- (©

®
®
C) .
(D)

‘ refers to all these factors
that disrupt the communication.
(A)

Nonsense
Noise
Nowhere
Nobody

(D) |
@) . All the trees in the park are
' flowering trees.

Some of the trees in the park
are dogwoods.

()

(

All dogwoods in the park are
flowering trees. '

If the first two statements are true, the
fhird statement is :

(A)
(B)
(C)
(D)

True -
Fals_e
Uncertain

Can'tsay

| Oft_he-forllow'ing"two stateménts, both-

of which cannot be true, but both can
also be false. Which are these two
statements ? ' -

4 All maéhineé make noise.

) "~ Some machines are h_oisy.
(I
v

No machine makes noise,
Some machines are not noisy.
landll .
lltand IV
land Il
lland IV

(Turmnover)- -




27. Circle indicates ‘strong’, square

indicates 'tall and triangle indicates |

;"army officers’. The ‘strbhg army

officers whq are not tall is shown by :

(A 4

(B). 3
©
(Dj 6

?8. Iria famfly thgre are husbapd, Qife,
: t\}vo sons énd two daﬁghtéfs. Ail the

'ladies were invited to a dinner. Both

sons went out to play. Husband did

30,

not feturn from O_ffice. Who was at

home? .

®
©
©

)

Only wife was at home
Altladies were at home
Only sons were at home |

No body was at home

HG-=2A/36

. (8)

29. Which of the following lfigureé
best depicts the relationship
-am'ongi Criminals, Thieve_s' and

. Judges ?.

@@@
0 |
o Oo
a Ooo

There are fwe booksA B C D and

~ E placed.on a table If A s

. placed below E, Cis placed_ above

D, B is placed below Aand D is
- placed above E, then which of the
- . followmg bookstouchesthe surface

‘ofthetable'? |

a (A) C
(B) B
C) A
(D) E

|




" (C) Al drug addicts are artists

33,

'.(i')r Artists afe generally whimsical. -
(I!) Some of them are frustrated.

(Ill) Frustrated people are prone o

be drug addicts.

Based on these statements which-of

the following conclusions is true 7.

(A) Al frustrated people éré_ drug_‘

_addicts .

(B) Some artists may be drug .

B

addicts _

(D) Frustrated people are

" whimsical

If Ais the son of Q, Q'and Y are the

" sisters, Zis the mother of Y, P is the -
', '_s'df{ of Z, then which of the following
. .é‘.tate;hents_ IS correct ? ; |
. {A)-, Pisthe maternal uhc_:le of A -

S '(B)- P and Y are sisters

(C) Aand P are cousins

| (D) None of these

Three ladies X, Y and Z marry three

8 ‘men A, Band C. X is married to A,

Y is not married to an engineer, Z is

HG-2A/36
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35.

(A) 8

not married to a doctor, C is not a

 doctor and Als a lawyer. Then which

‘of the following statements is

correct ?

(A) Y is married to C who is an

engineer

- B) Zis married to C who is a

~ doctor
) ) o .
(C) Xis married to a doctor
(D)  None ofthese
Find the number of triangies'i.n the

givenfigure:

/

® 10
© 12

© 14

Pointingto a photograph, a man said,

“| have no brother or sister but that

man’s father lS my father's son”.

Whose photograph was it ?
. A

His own

- (B} .Hisnephew's

. (C) Hisfather's

(D) Hissoms”

X (Ttirn over)




136.  Find the minimum number of straight -

37,

lines required to make the given”

figure: -

&) 16

®) 17

© 18

© 19

Find the number of triangles in the
givehﬂgufé:- o

A 18 o " 40.

® 20
©) 24

) "“27

- 38,

* the Brother of D's husband. C is the

" HG-2A/38

A, B, CD E an-d F are the
members of a club. There' are two

married couples in the group. A is

President of Women's Association.

F is a Sitar Player and Bachelor. B's

39,

wife is not a member of the club.

Four of them belong to the same .
‘family. B and F are colleagues in the

club. How is F related to B ?

A Wife

) (B) Husband

(C) Father -

(D) Itis not possible to determiné

Afamily consisté of six members P,
Q,R, X, Yand Z. Qisthe son of Rbut
Ris not the mother of Q. Pand Rare

amarried couple. Y is the brother of

R. X is the daughter of P. Z is the

- brother of P. How many children does

P have?

(A 1.

(B) 2

© s

(D) 4

Solve the problem and indicate the

best of the answer choices given:

lfu'>t, r> ci,'s>tandt> r, which of ,‘
‘the following must be true ? '

B u>s
(n 's>q_5
@y u>r. .

(A) lonly
~(B) Honly.

(C) Hlonly

(D) lNandll

~f' Contd.
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41.

42,

43.

A

_is the final step in the

" decision making process.

Implementing the decision

(8)

©
(D)

Evaluating the decision
Recognizing the decision

Evaluating the alternatives

is not one of the eight

- steps'in the decision making

process.

A)
(B)
(©)
(D)

{dentifying the problem
Analyzing alternative solutions
implemeniing the decision
Delegating the decision

making

lvan spoke out in a meeting iri favour

of a potential cost savings that would

~ program offered by fhe'company. He

later received informa'tion that

showed that his initial decision about

K the cost savings was incérrect, but

‘he was too embarrassed to publicly

admit he was wrong, so he is sticking

44,

(D)

(D)

(B)
(€)

Satisfying
Escalation of commitment:
Poor use of rational making

process

_ the
disadvantages of group decisions
that typically results in groups that are

is  one of

very cohesive.
(A) - Conflict

(B) Groupthink
(C)

Domination

Compromise

45. “Decision making under risk”

result from a new employee benefits

48,

by his original statement. lvan is

experiencing :

A

Bounded rationality

HG - 2A/36

(1)

(D)

means :
(A) the decision has no data on
which to base his or her

deff:ision

(B) the; decision maker is used to
dealing  with  high-risk
situations |

©)

the decision maker knows all of
the risks involved in the situation

the decision maker can
estimate the risk involved in
making a decision

The first step inthe decision making

process is which of the following ?
(A) Develop fhe alternatives

(B) "Analyze alternatives

(C) Identify decision criteria
(D) |dentify the problem

., (Turn over)




47.

48.

49.

The strengths and weaknesses of
each alternative become obvious in
which step of the decision making
process' ? |

(A) Identify the problem

(B) Identify the decision criteria
(C) Analyzethe alternatives
(D) Implementthe alternative

'/Joé, the manager of _[hternet Made

Easy, is concerned, He is trying, like
all technological based companies,
to stay ahead of the competition by
being the first to offer the new
services available on the internet.

. His business offers training to local

businesses and so he must offer

_t_h_e latest available information ;
however, he must also advertise the -

classes and the content, which
means going to the publlsher with
that information six weeks before a
class is to begin.

‘What should his next series. of

classes offer ? Joe is operating
under which of the folEowmg
conditions 7

(A) Uncertainty

(B) Certainty

(C) Risk-- |
(D), Optimal decision making

Look at this series below :

2,1, (12), (1), .

What number shou[d come next ?

A (13)

®) (1/8)

HG-2A/36

- (0) (2/8)

50.

(D) (1/16)

)] Tanya is older than Eric.
() Ciliffis older than Tanya. -
(ly . Ericis older than CIiff.

If the first two statements are true, the
third statementis :

A) Tre

' (B) False

51,

{C) Uncertain

(D) Cannotbe determrined

Statements :

(1) " The prices of petrol and diesel
-in the domestic market have

- remained unchanged for the

past few months.

() - The crude oil .prices in the

international market have gone

up substantially in the ast few
months.

- (A) Statement’| is the cause and

statement Il is its effect

(B) Statement Il is the cause and
 statementlisits effect |

(C) Boththe statements|and Il are

-independent causes

(D) Both the statements | and H are
" the effects of independent
causes '

Contd.




92,

. 53

54,

Statement : In a one day cricket

match, the total runs made by a team

were 200. Out of these, 160 runs

were made by the spinners.

Conclusions : |

() 80% of the team consists of
spinners. '

{I) The opening batsmen were

spinners.

“(A) Only conclusion | follows

(B) Only conclusion i follows
(C) Either|or ltfollows
(D) Neither I nor Il follows -

Look at this series below :-

8,6, 9,23, 87, .
What number should come next ?
(A) 128

(B) 226

(©) 324

(D) 429

Statements

() The Resewe Bank of India has

recently put_restrlctlons on few

'small banks in the country.

()  The small banks in the private |

and co-operative sectorin India
are not in a position to
withstand the competitions of
the bigger in the public sector.

(A) Statement | is the cause and

statement |l is its effect

HG - 2A/36

58,

~ 56.

57.

(B) Statsiment Ilis thé cause and

statement 1 is its effect

{C) Boththe statements 1'and Il are

independent causes |

(D) Boththe statements | and Il are
the effects of mdependent
causes .

A candidate attempted 12 qu_e,st_io‘ns ,

and secured full marks in ali of them.
If he obtained 60% in the test and all
questions carried equal marks, then
what number of -questions in the

test? - '
(A) 36

(B) 30

©) 25

© 20

Which word does NOT beiong wnth
the others ?

(A) inch

(B) Ounce

(C) Centimeter

(D) Yard

Here are some words translated

- from an artificial language: -

gorbifiur means fan belt. -
p1xngorb1 means celllng fan

arthtus! means tile roof.
~ Which word cou!d mean“celhng tile”?

(A) Go_rb[tusl_
(B) Flurgorbi .

. (C) Arthfiur

(D) Pixnarth

| ~(Turnover)




58. Odometeristomileageascompass g2 If the sum of a few numbers is 450

. (is to: and ,the'ir mean is 50 and if another
(A) Speed number 100 is included, the mean
B) Hikin '
_( ) , 9 would become : .
(C) Needle
_— (A) 55
(D) Direction
| (B) 60
99. 45+ 46 + 47 + e + 113 + 7 _
114+ 116=7 P - (C) 78
- (A) 5600 ‘- (D) 150
 (B) 5656 | | |
, (_) : 63. Inatwo digit number, the digit in the
(C) 5680 o _ - _
. o unit place is 2 more than three times
(D) 4000
' the digit in the tons place. if the sum
o 2457 L .
_ 2212 ... -of digits is 6, the numberis :
60. L.C. Mf_of 3'9'6' 12 is: \ !
g | (A) 15
A Tz o
3 () 18 (8)24
1 S |
— (C) 42
®) s s _ |
. (D) 51
35 _
© G |
S 64. Five years ago, Vinay's age was
(D) 1—?— R | one-third of the age of Vikas and now

: | o Vinay's age is 17 years. What is the
_ - 9028, ,008_, - : '
, 61. 877 x4 ? - present age of Vikas ?

n) 8% : | | (A) 9years

®) 4% o (B) 36years )
(c:)_l,z - " KR (C) 41years

® 1. ) , (D) 51years

© HG-2A86" - - (14) | .. Contd:




85.

SR P R

66.

17 1

4 x-® pxle-a) +_1+xt‘;‘.“b’+x(°‘b3 ’

4

7 o=?

(A 0

(B) 1
(C) xé“b‘?
(D) xa +bh+c .

3 litres of water is added {015 litres

of a mixture of a 20% solution of . .

~alcohol in water. The strength of

67,

. 88,
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alcohol isnow:
A 123%
) 165%

(C) 24%
(D) 16%

A sofa set carrying a sale p:riic::e ticket

~of Rs. 5,000 is sold ata discount of

4% thereby gaining 20%. The
trader’s cost price of the sofa setis

CA) - Rs.:3,600

- +(B) ‘Rs.3,800 o
.. (C).Rs. 4,000

- (D) .-Rs.‘4,200 .

8 men can finish a piecé of work in
40 days. If 2more mé’n _join‘With them,
then the work will be completed in :

(A) 30days

(B) 32 days

(15)

69.

(C) -36days - -~

(D) 25days

Kamal can do a work in 15°days.

Bimal is 50% moré efficient than

Kamal. The number of days, Bimal

will take to do'the same piece of

work, is

- A) 10

®) 103

- (©) 12

70.
o rand 30 minutes respectively. If both

71,

A person starting from his house

(D). 14

Two pipes can filla tank in 20 minutes

'pipes ejre opened simultaneously,

then the tank will be filled in
A} A0minutes

{B) 12minutes

(C) 15 minutes
(D) 25minutes

"

cq\fers a distance -at 15 km/hr
and returns to the starting place at
10 km/hr. His average spéed'during o
the whole journeyist
(A) 11 km/hr
(B) 12kmihy

(©) 123kmmr

(D) 13kmihr

o(Turn over) .




-

72. A merchant has 1,000 kg of sugar,
" part of which he sells .at 8% profitand
-+ rest at 18% profit. He gains 14% on
the whole The quantlty sold at 8%
profitis : :
'(A)" 400 kg
(B) 560kg
(Cy 600kg
(D) 640kg

questions. The number of candidates appeared; passed and selected in a compet:ttve .

73.

exammatfon from four states over the years.

A sum of Rs. 10,000 is lent parﬂy at /
‘ '8% and the remaining at 10% per

annum. if the yearly interest on the
average is 9.2%, the money lent at
10%is ;

(A) Rs. 8,000
" (B) Rs.5,500

(C) Rs.5,000 -

(D) - Rs. 4,500
Direction (Q. Nos. 74 to 78) : Study the following table carefully and answerthe given

State K A - . B

c D

© HG-2A/36

Year| A| P| S| A|P

S

A

Pls|Aa|P|s

2001 850 | 215| 25 | 1050|245

35

990

195 | 28 |1080| 300 | 36

2002 | 880 | 240 20| 9801230

30

650

150 | 28 | 1150 320 | 38

2003 | 750 | 180| 22 | 1120|210

28

840

180 | 25 | 895 | 280 | 42

2004 | 920 | 290 36 | 890 190

32

780

160 | 32 | 975 | 260 | 39

2005 | 960 | 300f-32 | 950 | 225

40

1020

220 | 36 | 888 | 240 | 32

2006 | 820 | 250| 28 {1180/200

38

930

H

215| 35 | 864 | 216 | 30

A= Appeared p= Passed S= Se[ected

74. In theyear2001 which state had the

lowest percentage of candidates

selected over the candidates
appeared ?

A A
B B
© C .
(D) D

75.

During which of the following years,
the passing percentage overappeared

. isthe highest from state ‘D" ?
(A 2001
" (B) 2006

(16)

(©) 2004
(D) 2003

Contd.
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78.

T
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- (B)

o

Total- nsmber of candidet_es seleeted
from state ‘A’ is approximately whaf
percentage of the total number of
candldates selected from state ‘B’ ?
(A) 88 |
85

(C) 75 |

(D) 80

During which of the following years,

the percentage of candidates

- selected over-passed is the lowest

for state ‘B ?
(A)
(B)
©

2001
2002
2004
'2005
What is the ratio between number

of candidates passed from stete_‘A’

in 2002 to that from state ‘D’ in
20057

A 1:1.
(B) 1:2 -

(©) 2:1

D) 2:3

Direction (Q. Nos. 79 to 83) : Study the

following graph care_fuﬂy and answer the

given questions.

80._

- (17)

Percent profit earned by two companies A
and B over the years 2001 to 2007.

Company
_ -0~ A
100 <8
a0 -
80
Profit 70 7
ro t 60
- 801 |
" 40
30+
204
10 o
" 2001 2002 2003 2004 2005 2006, 2007
’ Years
79. Investment of company ‘B’in 2007 is

- (C).

" more by 40% than that in the previous

year. Income in 2007 was what

percent of the mvestment in 2006 ?
A 280% |

(B) 252%
242%

(D) 52%

Investment of company ‘B’ in 2003 |

" was Rs. 15,40,000. What was its

@

(D)

income in that year ?
Rs.23.33 lakhs
(B) Rs.22.33lakhs
©) Rs. 22.23 lakhs

Rs. 23.23 lakhs

~(Turm over)




81. Income of company ;A’ in 2005 was
" Rs. 21.7 lakhs. What was the
investr’nent‘?
(A) Rs 14.6 lakhs
(B) Rs.41.60lakhs
(C) Rs. 50.26 lakhs

- (D) None of these

82, Average ihvestmenfof‘ company ‘A’

Direction (Q. Nos. 84 to 88} : The pie
- charts given show the data on number of -

* foreign collaborations approved with

various countries. Study the pie charts:

~ and answer the given questions.

- over thé‘years ‘was Rs. 26 lakhs. .

‘What was its aVeragé income over
the y_ears ? |

(A) | Rs. 40.56 lakhs

(B) Rs.50.26 lakhs

(C) Datainadequate

(D) . Rs. 41.56 lakhs

83, !ncbme of company ‘A’ in 2005 is

- equalto the inveétment of company
. Bin 2006. What is the fatio of the
| investment of company 'A’in 2005 to
the investment ‘of company ‘B’ in
1996 ?
(A) - 37:36
(B) 30:26
L ©) 20:31
(D) _None of these

" HG-2A/36

(18) -

Others
142.2°

- 1998 : Total = 1500

84. By what percentage did the foreign
collaborations approved with Germany -
change in 1998 with respectto 1998 ?

j (A) 2'% increase |
(B) 2% decrease
() 8%% increése

(D) 83% decrease

.. ‘Contd.




85. What is tﬁé ratio of the number of

foreign collaborations approved with

 USAIn 1988 tothose in 19997

86.
share of UK in the foreign

87.

(A) 4:5
B 12:27
©) . 15:28 -
(D) 24:35

What _is“.the difference in percentage

collaborations approved in 1 998 and
1999 7 -

(A 1.5%

(B) 2.0%
(C) 25%
(D) . 3.0%

By how much did the number of
- foreign coilaborations approved with |

ltaty increase from 1998 to 1999 ?

- A 30

88.

HG ~2A/36

(B) 10
C) 3

(D) Zero

,In 1999 USA accounts for what
percent of total foreign collaborations _

approved'?
A 21%
(B) 22%
(C) 23%
D) 24%

- (19)

'D:rectfon (Q Nos. 89 & 90) The tdble

given below shows the productfon of f:ve . |
types of cars by a company in the year
2001 to 2006. Study the table and answer

the questions,

Production of cars in (000) by a company

Year < | 2001 | 2002 | 2003 | 2004 [ 2005 ] 2006 |
Typed | Toial
P 8 |20 | 16 {17 ] 21 6 | 38
Q 16010 [ 14 [ 12712 14 | 78
R T2 17 1615 [ 13 ] 8 | 90-
S (4 61616 |2 |31 e
T 25 |18 19 |30 [ 14 [ [13%]
Total { 74 | 71 [ 75 | 90 | 80 | 86 476

. 89 The percent mcreased in total

production of ail typesof cars in 2004
tothatin 2003.'Was : |
w15

V(B) 20

(C) 25

(D) 30

90. The prod uction of which types of cars

was 25% of the total prod’_.uc-tiqn of all
~ types ofcar’sdur_ing'2005? |
GV
® R
© P
o a

(Tumover)




Direction (Q. Nos. 91 to 100) : Read the
following two passages and answer the
questions that follow each passage. Your

answer to these questions should be

based on the passages only..
Passage—1

_ Suppos'é | say to you in English that

“I| spent yesterday evening with a

neighbour”. You may well wonder whether
my companion was male or female, but [ .

have the nght to tell you pohtely that it's
none of your busmess But if we were
speaking -French or German, | wouldn’t
‘h_ave the privilege to equivocate in this way,
‘because the grammar of these languages
compels me to inform you about the sex of
my companion whether or not | feel itis
remotely your concern. This does not
mean, of course, that Engl'_ish‘spea'kers,are

- unable to understand the differences

between evenings spent with male or
female neighbours, but it does mean that
'they do not have to consider the sexes of
neighbours, friends, teachers and a host
of other persons each tirqe they-come up

in a conversation, whereas speakers of |

some languages are obliged to doso.

On the other hand, English does
o obllge you to specify certaln types of

information that can be Ieft to the.context

in other languages. If | wantto tell youin

English about a dinner withrmy héighb‘q’Ur,

| may not have té mention the neighbour's
sex, but | do have to tell you something

. about the timing of the event. | have to
decide whether we dined, have been

HG=2A/36 &

dinir_lg, are dining, wilt be dining and so o_h.

.. Chinese, on the other hand, does not

oblige its speakers to specify the exact
time of the action in this way, because the
same verb form can be used for past,
present 'o,r future actions. Again, thié does
not mean that the Chinese are unable to.
understand the concept of time. Butit does
mean théy are not obliged to think about
timing whenever they describean action.
When your language routinely o_blig’éé

. you to specify certain types.of information,

it forces.you to be attentive to certain
details in the world and to certain aspects
of experience that speakers of other
languages may'not be required to think
about all the time. And since such habits
of speech are cultivatéd from the earfiest

- age, itis only natural that they can settle
. into habits of mind that go beyond

language itself, affecting your experiences,
perceptions, associations, feelings,
memoriés and orientation in‘thé world.

| .91, "I have the right to tell you politely that

it's none of your business.” What is
“none of your business”?
(A) My spending or not spendmg g
-+ an.evening with my neighbour
-(B) Your woncjerm_g whether my |
. neighbour is male or female
(C) Wondering whether it is my
right or not to tell you politely thiat
it's none of our business
(D} Yourwanting to know whether
my. nelghbour was male or
female R

Contd. '




92. What determines the gender-marker

-of the words we use in a language ?

e

B
©
®

Linguistics
Morphology '
Syntax -

Grammar. -

93, Which of the following statements -

- about Chinese and English is true
according to this passage ?
(A) Chinese is mdrfferent unhke

Engtlsh toeventsin tlme :

Chrnese cannot dlstrngursh

(B)

I
b

(C)

" notreflect the tenses the way__

those of English do
o

RR understand the ¢ sense of trme

Chinese words

" the way English words do

94, When you referto the people of Chrna . |

.you say an_d when you

“refer to_-the people of England you-

say
"
(B)
(©
()

HG - 2A/36 .

The Chinese, The English
Chinese, English— .'
-‘The Chlnese Engllsh |
Chmese The English

Chinese words for action do :

cannbt -

| 95. .“When your language routinely -

. obliges you to specify certain types
of information ... What does the
ita_lit:ized word'mean ? -

(A) As done sometrmes out of
 compulsion '
(B) As done always out of
_ compulsion o
(©) As done regularly as procedure
(D) As done by default, not

~ otherwise
7Passage -1l

| Scientists are primarily moved by

- curiosity, by the passionate desire to Kriow

L3

(21)

how things happen in life and nature and
secondly, by the desire to usé this
knowledge for human welfare. Nobody can
deny that science has rendered invaluable
service to mankind in various spheres. It
is due to the drscoverres of science that
we have been able to find a cure for most
drseases and prevent the outbreak of

- eprdemrcs thereby vastly i rncreasmg life
* expectancy.

The most valuable service whrch
science has rendered to mankind is that it
has given it Supreme self confidence. It has
given man the assurance that instead of
being a slave to hrs envrronment he can
control and modrfy it to suit his needs.
Before the screntiﬁc era, an agriculturalist -
eked out a precarious existence his
livelihood. dependrng upon the vagarles of

( Tu m over)
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the weather. [nsect’ pests locusts, drought
devastated his fislds. Now we. have built
Ahuge dams to supply waters through
perennial canals manufactured fertlhzers
which enormously increase agrlcultural

~ production, produced effective pest|0|des.

learnt how to prevent $oil erosion,

introduced multiple cropping and devised
other ways to improve out_put. .

Population control. ;woutd stilt be

‘needed if food production s to keep pace

with the growth in numbers, but the
“spectacular progress which scientific

cultivation has made possible in the field
of agriculture ‘has belied all Malthusian
fears. Progress in the industriai field has
been even more spectacutar, thanks to the
application of science to industry. The
* world, particularly the developed part of if,
hgw enjoys a standard of living which in

former ages was niot even enjoyed by the

wealthier classes. The higher standards of

living have made it possible for the
‘governments to provide the social services
onaliberal scale. ' |
 The machine"‘has not only relieved
man of heavy burdensome tasks, but has

| also provided him wi_th-ample leisure in

which he can engage himsetf in culural .

" pursuits, culivate various kinds of hobbies

and traveit Itis through science thathe has

HG-2A/36"

been able to invent new sources of
entertainment and education, such as

cinema, radio and television. The

| .en_orm'ous popularity of these sources of
~ entertainment prcﬁves how useful they are
to mankind. Before the invention of the - -

' pnntlng press, educatlon was confined to

a small sectlon of the communlty and was
ofa predemmantty r.e[lglous character. The
prihting press revoiutionised the art of
publrcatton and broughtbooks periodrcais

and newspapers within everyone's reach.

'96. What made the dlscoverles of

science posslble ?
(A Inquiry
| (B) ‘Reason_ing
() Curiosity
(D) Skl
97. TW.ha't significant change in man’s life
| resulted with hIS knowiedge of

smence ?

(A) "It has made hlm bold and

‘creatuve -

(B) lthas made ofhim a master of

hls envrronment

* (C) " Ithas made him cautious about
- his environment |

(D) Ithas made little difference to
hislife |

< Contd.




98. In which part of ihe world do peéple
enjoy a higher standard of living ?
- (A)  TheWest
. (B) The C!eveloped
= (C) TheMid-Eastern
(D) The underdeveloped

98. Who would be responsible for
" | ‘extendlng social servnces ?

B ,‘(A) Governments

- ,’,.(B) Local-self governments

{C) Screntn" ic mstituttons

(D) Weaithler classes |

100. What are enon'nousiy popular among“

the sources of entertainment ?
(A) Cinema, radio, te'!evision

B Books, periodicals, newspapers

(C) Various kinds of hobbies: and

trav_el

(D) Science, culture, education

HG - 2A/36 (23)
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